The Association of Corporate Treasurers CPD Entry Test


Treasury Policy and Objectives – Worked Solutions
Question 1

You are the recently appointed treasurer of a multinational group and you have concluded that your organisation requires clearly defined and detailed treasury policies. The following is a list of those who could be involved in the initial formulation or substantial review of those policies.

A
Internal audit

B
Senior management of subsidiaries

C
Your external auditors

D
Group financial controller

E
Your treasury team

F
Group CFO

Which one of the following combinations would you choose to be involved in policy formulation and review?


(a)
ACD.


(b)
ACDE.


(c)
ABCDE.


(d)
ABCDEF.


(e)
Don’t know.

Answer 

The right answer is (d) ABCDEF.

Manual VI Ch 12, Manual IX Ch 3

Question 2

From the following list, which one would ‘good practice’ suggest should be the ultimate approval authority for Treasury policies?


(a)
Treasurer.


(b)
Chief Financial Officer.


(c)
The Board of Directors.


(d)
The Chief Executive Officer.


(e)
Don’t know.

Answer 

The right answer is 
(c)
The Board of Directors.

Ultimately the Board of Directors carry the responsibility for all group policies.  The Board must be the sanction.

Manual VI Ch 12, Manual IX Ch 3

Question 3

From the following list, which would you expect to be included in a Treasury Policy document?

A
Authorised financial instruments.

B
Counterparty credit limit criteria.

C
Treasury overhead budgets.

D
Clarification of the Chief Financial Officer’s role in relation to treasury matters.

E
Profitability forecasts.

(a)
ABC


(b)
ABD


(c)
BCE


(d)
ACE


(e)
Don’t know

Answer 

The right answer is     (b)
ABD.

The policy document is intended to define / guide the way in which the treasury will operate.  Treasury overhead budgets and profitability forecasts relate to outcomes rather than guidance.

Manual VI Ch 12, Manual IX Ch 3

Question 4

You are the treasurer of a treasury that aims to minimise financial risk whilst maximising the certainty of outcomes arising from financial exposures. 

Which phrase best describes your approach?

(a)
Profit centre.


(b)
Cost centre.


(c)
Cost saving centre.


(d)
Agency centre.


(e)
Don’t know.

Answer 

The right answer is    (b)
Cost centre.

A profit centre will attempt to improve returns while accepting a limited amount of risk.  A cost saving centre would typically be in a risk averse company that selectively manages risks according to its view of the financial markets.  An agency role is the role adopted by a central treasury acting on instructions from its operating companies.  In these circumstances the treasury has no input into risk management decisions.

Manual VI Ch 12, Manual IX Ch 3

Question 5
What is often the major determinant for the geographical location of the treasury centre of an international organisation?

(a)
Proximity to group operating units.


(b)
Taxation.


(c)
Proximity to Head Office.


(d)
Proximity to banks.


(e)
Don’t know.

Answer 

The right answer is    (b)
Taxation.

Here the key is the reference to an international organisation.  Location of the centre must therefore have a tax regime which allows flows to and from the operating units with minimal cost and asymmetry.  Many such centres are situated in the Netherlands for this reason.
Manual VI Ch 12, Manual IX Ch 3

Question 6
Which one of the following types of companies are most likely to have profit centre treasuries?

(a)
Manufacturing companies.


(b)
Companies with extensive use of commodities.


(c)
Travel companies.


(d)
Communications companies.


(e)
Don’t know.

Answer 

The right answer is    (b) 
Companies with extensive use of commodities.

These companies need to be active in the commodity markets.  This requires an ongoing presence which, coupled with an understanding of the underlying economics of the commodity and its futures markets, tends to encourage profit centre treasuries.

The other types of companies tend to have less intimate knowledge of the commodity or financial markets.  They concentrate their efforts on their chosen spheres of activity, on the assumption that their expertise will generate more profits there.

Manual VI Ch 12, Manual IX Ch 3

Question 7
The performance measurement of ABC PLC treasury is based on absolute measures. Which of the following is an example in relation to interest rate management?

(a)
3-month LIBOR.

(b)
Value at risk against capital at risk.

(c)
Total interest cost.

(d)
Interest cover.

(e)
Don’t know.
Answer 

The right answer is     (c)
Total interest cost.

3 month LIBOR is a relevant base for many interest comparisons because it is the most widely used measure of the current cost of money.  It is, though, today’s cost of money. It is only relevant today.   If the performance system is based on absolute measures, this means that the measure of success, the benchmark, is an absolute number, not one which changes every day.

Value at Risk can be a useful measure, particularly for banks, but a key component of the calculation is the volatility of the underlying instruments.  Again, this is not an absolute measure.

Interest cover is absolute in terms of the interest part of the calculation.  However, the performance of the company is not fixed.  (There are those who might argue that this would be a better measure because of its use in loan documentation for instance.)

Manual V Ch 15, Manual IX Ch 3, 4

Question 8
A treasury policy should contain a summary of the risk management framework within which each of the individual risk areas is to be managed. 

From the following combinations, which is the most important to be contained within this framework? 

A
The instruments that may be used for risk management


B
A statement of the objectives of the treasury in managing the risks


C
A description of the source of exposures requiring management


D
The organisational structure of the treasury department


E
 The risk management approach to be adopted

(a) ABC
(b) ADE

(c) BCD

(d) BCE

(e) don’t know

Answer

The right answer is (d) BCE

The instruments to be used are not vital in the summary of the risk management framework, nor is the organisation of the treasury department.

A Treasury Policy Blueprint, David Swann and John Precious, ACT Business of Finance Series

Question 9

A well-written Treasury Policy should ensure that there is clarity regarding which combination of the following factors?

A
how risk exposure arises

B
treasury activities permitted

C
taxation treatment of specific instruments

D
authority to approve or commit to agreements

E
accountability

(a) ABC

(b) ACE

(c) BDE

(d) CDE

(e) don’t know

Answer

The right answer is (c) BDE

The policy does not need to contain a description of how risk arises – the company cannot determine that!  Neither could it contain any reference to the tax treatment of any instruments!  If only the company could control that. . . . 

The Treasurers’ Handbook 2005, Treasury Policy

Question 10

For detailed hedging activities on a day-to-day basis the treasury policy should provide clear rules on which of the following?
A
objectives in hedging

B
authorised instruments

C
approval procedures

D
budgeted rates

E
benchmark rates

(a) ABC

(b) ACE

(c) BCE

(d) BCD

(e) don’t know

Answer

The right answer is (a) ABC

The benchmark rate and the budgeted rate (if there is one) are not required for day-to-day hedging activities.

The Treasurers’ Handbook 2005, Treasury Policy
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